Oxygen demand

Slide#23 solution)

Reaction stoichiometry:
C.H,,0, + 60, = 6CO, + 6H,0
MW of glucose = 180 g/mole
ThOD of 108.75 mg/L glucose

(6x32) g 0,/mole glucose

108.75 mg glucose/L X 180 g glucose/mole

=116 mg 0, /L



Modeling BOD

Slide#32 solution)
i) Ultimate BOD
BOD, = Ly(1 —e™*)

L. = BODs 120 mg/L
0 = j_e-5dxk ~ 1_,-5dx0.115d"1

=274mg/L

ii) BOD, at 15°C

kic = k,00°72°, 8=1.135 at 4-20°C

kis = 0.115 day~! x 1.1351°720 = 0.0611 day*

BOD; = 274 mg/L x (1 — e~00611day™"x3day) — 459 mg/,



